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1.The price index in 2001 is 120,and in the price is 126. What is the
information rate?

(a) S percent

(b) 6 percent

(c) 26 percent

(d)The inflation rate is impossible to determine without knowing the base

year.
2.Stagflation would exit if prices

(a) and output rose

(b) rose and output fell

(c) fell and output rose

(d) and output fell
3.Consumers’ willingness to pay for a good minus the amount they actually
pay for it equals

(a) consumer profit

(b) consumer benefit

(c)consumer surplus

(d)consumer cost
4.Economic profit is equal to

I total revenue-(explicit costs + implicit costs)

0 total revenue-opportunity costs

I accounting profit-implicit costs

(a) T only

(b) I and I

(c) I and II



(d) all of the above
5.If the supply of land is fixed, a tax on land would be paid
(a) entirely by the landowners.
(b) entirely by the renters or users of the land.
(c) party by the landowners and party by the land users.
(d) only by workers.
6.If marginal cost is rising
(a) marginal product must be rising.
(b) marginal product must be falling.
(c) average variable cost must be falling.
(d) average fixed cost must be rising.
7.A production function is a relationship between
(a) inputs and revenue.
(b) inputs and cost.
(c) inputs and profit.
(d) inputs and quantity of output.
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prisoner’ s dilemma

. Monetary neutrality

Theory of efficiency
Theory of efficiency
Fisher effect

Nash Equiliubrium
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